[ Efficiency vs vertpos |

- 0.05 , : :
9,045 +-o-veeieeeeen SRR RRIE e
2 : : :
U e e
(8] . . .
©.035F] - ooeeeiee e e o
3 : :
£0.03 o o e
0.025 3 R R o
0.02 T TR e
0.015 ;
0.01
0.005

Ratio
=

e

1072 10 1 10 0?
TP vertr (cr%)

[—=— DQNM_MKFI5_XIMNusPU_base
—e— DOQM_mkFit5_XiMinusPU_retrainOldFiles125_v2_prelimWPM_epoch4

Efficiend —— DOM_mKFit6_XiMinusPU_base

—— DOQM_mkFit6_XiMinusPU retrainOldFiles125 v2 prelimWPM_epoch4
~ 0.05

9.045
2]
0.04
o)
9,035
o
£0.03
(]
0.025
0.02
0.015
0.01
0.005

0
!

Ratio

0.9

30 -20 -10 O 10 20 30
TP vert z (cm)

0.8%

~ 0.02

8
o
s
o]
TITTT

o

=

(o))
T

I
T T T
- -
e P
- -
R TR TR T TETTT PP PP P

TTTT
n
LS

©
o
=}
R
T
m
1

10 15 20
Sim. PV z (cm)

ﬁ....
(@]

3| TLcEETE K
(@]

(6)]



	Contents
	Page 1


